
 

  

APRIL 2020           62453/CPZ6B/ 
         CPG6A/CPM6A/CPW6C/ 
                                    CPC6C/MAT6A/CPW3E 

Time : 2
11 hours                                                       Maximum : 75 marks 

SECTION A — (5  3 = 15 marks) 
Answer any FIVE questions. 

1. Define management accounting. 
 ÷©»õsø© PnUQ°¼ß ÁøμÂ»UPn® u¸P. 

2. Give two functions of a management accounting. 
 ÷©»õsø© PnUQ¯¼ß H÷uÝ® Cμsk ÷|õUP[PøÍ TÖP. 

3. What is the meaning of interpretation of financial statements? 
 {v{ø» AÔUøP £Szuõ´Ä GßÓõÀ GßÚ? 

4. What is Trend analysis? 
 ÷£õUPõ´Ä GßÓõÀ GßÚ? 

5. From the following calculate the average collection period : 
 . 

Credit sales 30,000 

Debtors 2,500 

Bills receivable 3,000 

 RÌUPõq® Â£μ[PÎ¼¸¢x \μõ\› Á`»õS® Põ»zøu PnUQkP. 
 ¹. 

Phß ÂØ£øÚ 30,000 

PhÚõÎPÒ 2,500 

ö£ÖuØS›¯ ©õØÖa^mk 3,000 

6. Define Debt – Equity ratio. 
 Phß – J¨£μÄ ÂQu® Áøμ¯Ö. 

7. What is solvency ratios? 
 wºÄ ÂQu[PÒ GßÓõÀ GßÚ? 

8. What do you  mean by marginal costing? 
 CÖv{ø» AhUP{ø» Gß£uß ö£õ¸Ò ¯õx? 

9. Calculate break even point : 
 .  . 

Sales 6,00,000 Direct material 2,00,000 

Fixed expenses 1,50,000 Direct labour 1,20,000 

  Other variable expenses 80,000 
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 C»õ£ |mh©ØÓ ¦ÒÎø¯U PõsP : 
 ¹.  ¹. 

ÂØ£øÚ 6,00,000 ÷|μi ‰»¨ö£õ¸Ò 2,00,000 

{ø» ö\»ÄPÒ 1,50,000 ÷|μi EøÇ¨¦ 1,20,000 

  ©ØÓ ©õÖ® ö\»ÄPÒ 80,000 

10. Define Budgeting. 
 vmh¨£mi¯À Áøμ¯Ö. 
11. What is meant by pay back period? 
 v¸®£ ö\¾zuÀ Põ»® GßÓõÀ GßÚ? 
12. Define cash budgeting. 
 öμõUP ÁμÄ – ö\»Äzvmh® Áøμ¯Ö. 

SECTION B — (3 × 10 = 30 marks) 
Answer any THREE questions. 

13. Explain the advantages of management accounting. 
 ÷©»õsø© PnUQ¯¼ß |ßø©PøÍ ÂÍUSP. 

14. From the following assets side of the balance sheet of S Ltd., for 
the years ended 31.12.2012 and 31.12.2013.  Prepare a common 
size balance sheet for 2012 and 2013. 

Assets 2012 2013 

Cash 100 140 

Debtors 200 300 

Stock 200 300 

Land and Buildings 400 370 

Plant 300 270 

Furniture 100 140 

 S {Ö©zvß 31.12.2012 ©ØÖ® 31.12.2013 ¢ ÷uv¯ C¸¨¦ {ø»U 

SÔ¨¤À EÒÍ ö\õzx £Sv öPõkUP¨£mkÒÍx. 2012 ©ØÖ® 2013 

® BskUS›¯ ö£õx £›©õn C¸¨¦ {ø»U SÔ¨¤øÚ u¯õº 

ö\´P. 
ö\õzxPÒ 2012 2013 

öμõUP® 100 140 

PhÚõÎPÒ 200 300 

\μUQ¸¨¦ 200 300 

{»®, Pmih® 400 370 

ö£õÔ 300 270 

AøÓP»ß 100 140 
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15. Calculate the debtors turnover ratio from the following figures : 

 . 

Total sales for the year 2017 1,00,000 

Cash sales for the year 2017 20,000 

Debtors as on 1.1.2017 10,000 

Debtors as on 31.12.2017 15,000 

Bills receivable as on 1.1.2017 7,500 

Bills receivable as on 31.12.2017 12,500 

 PhÚõÎPÎß _ÇØ] ÂQuzøu ¤ßÁ¸ÁÚÁØÔ¼¸¢x PnUQkP : 

 ¹. 

2017–® Bsiß ö©õzu ÂØ£øÚ 1,00,000 

2017–® Bsiß öμõUP ÂØ£øÚ 20,000 

1.1.2017 AßÖ PhÚõÎPÒ 10,000 

31.12.2017 AßÖ PhÚõÎPÒ 15,000 

1.1.2017 AßÖ ö£Öu¾US›¯ ©õØÖ^mk 7,500 

31.12.2017 AßÖ ö£Öu¾US›¯ ©õØÖ^mk 12,500 

16. Determine the value of closing stock from the following details : 

 Sales – . 4,00,000 
 Gross profit ratio – 10% on sales 
 Stock velocity – 4 times 

 Closing stock was .10,000 in excess of opening stock. 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x CÖva \μUQ¸¨¤ß ©v¨¤øÚ 

PnUQkP. 

 ÂØ£øÚ – ¹.4,00,000 

 ö©õzu C»õ£ \uÂQu®  – ÂØ£øÚ°À 10% 

 C¸¨¦ JmhÂQu® – 4 •øÓPÒ 

 CÖva \μUQ¸¨¦ ¹.10,000 – ®, öuõhUPa \μUQ¸¨ø£ Âh AvP® 
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17. From the following balances you are required to calculate cash 
from operations. 

 31.12.2017 31.12.2018 
 . . 

Debtors 50,000 47,000 
Bills receivable 10,000 12,500 
Creditors 20,000 25,000 
Bills payable 8,000 6,000 
Outstanding expenses 1,000 1,200 
Prepaid expenses 800 700 
Accrued income 600 750 
Income received in advance 300 250 
Profit made during the year – 1,30,000 

 ¤ßÁ¸® C¸¨¦PÎ¼¸¢x ö\¯À£õkPÒ ‰»® öμõUPzvøÚ 

PnUQkP. 

 31.12.2017 31.12.2018 

 ¹. ¹. 

PhÚõÎPÒ 50,000 47,000 

ö£ÖuØS›¯ ©õØÖa^mk 10,000 12,500 

PhÜ¢÷uõºPÒ 20,000 25,000 

ö\¾zxuØS›¯ ©õØÖa^mk 8,000 6,000 

öPõk£hõ ö\»ÄPÒ 1,000 1,200 

•ßTmi ö\¾zv¯ ö\»ÄPÒ 800 700 

ö£Ó¨£h ÷Ási¯ Á¸©õÚ® 600 750 

•ßTmi÷¯ ö£ØÓ Á¸©õÚ® 300 250 

|h¨£õsiØS›¯ C»õ£® – 1,30,000 

18. With the following data for 60% activity, prepare a budget for 
80% activity. 

 Material : . 10 per unit 

 Wages : . 6 per unit 

 Administrative overheads .2,400 (10% variable) 

 Factory overheads .6,000 (20% variables) 

 Assume that production at 60% activity is 240 units 
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 RÌPõq® Â£μ[PÒ 60% ö\¯À£õmkUS E›¯x.  }Âº 80% 

ö\¯À£õmk wmh AÔUøP°øÚ u¯õº ö\´P.  

 ‰»¨ö£õ¸ÒPÒ ¹.10 A»S JßÖUS  

 T¼ ¹.6 A»S JßÖUS  

 öuõÈØ\õø» ÷©Øö\»ÄPÒ ¹.6,000 (20% {ø»¯õÚx) 

 {ºÁõP ÷©Øö\»ÄPÒ ¹.2,400  (10% ©õÖ£õk Eøh¯x) 

 60% ö\¯À£õmkUS›¯  EØ£zv {ø» 240 A»SPÒ GÚU öPõÒP.  

19. A project cost .5,00,000 and yield an annual cash inflow of 
.1,00,000 for 7 years.  Calculate it payback period. 

 J¸ vmhzvØPõÚ AhUP® ¹.5,00,000.  AuØPõÚ Bsk öμõUP 

EÒ÷Íõmh Á¸Áõ´ ¹.1,00,000 HÊ BskPÐUS Á¸® GÚ 

Gvº£õºUP¨£kQÓx. «m¦ ö\¾zuÀ Põ»zvøÚa PnUQkP. 

SECTION C — (2 × 15 = 30 marks) 

Answer any TWO questions. 

20. Explain the limitations of management accounting. 

 ÷©»õsø© PnUQ¯¼ß SøÓ£õkPøÍ ÂÁ›. 

21. Calculate the trend percentage from the following data 
Particulars 2013 2014 2015 2016 2017 2018 

Sales 300 340 420 480 520 600 

Cost of goods sold 180 204 256 287 300 330 

Office expenses 40 42 45 50 55 60 

Selling expenses 20 25 30 40 50 60 

Net profit 60 69 89 103 115 150 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x ÷£õUS \uÂQuzvøÚ PnUQhÄ® 

ÂÁμ[PÒ 2013 2014 2015 2016 2017 2018 

ÂØ£øÚ 300 340 420 480 520 600 

ÂØÓ ö£õ¸Îß AhUP Âø» 180 204 256 287 300 330 

A¾Á»Pa ö\»ÄPÒ 40 42 45 50 55 60 

ÂØ£øÚ ö\»ÄPÒ 20 25 30 40 50 60 

{Pμ C»õ£® 60 69 89 103 115 150 
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22. Using the information and the form given below compute the 
Balance sheet items for a firm having a sale of .36,00,000. 

 Sales/Total assets = 3 

 Sales/Fixed assets = 5 

 Sales/Current assets = 7.5 

 Sales/Inventories = 20 

 Sales/Debtors =15 

 Current ratio = 2 

 Total assets/Net worth = 2.5 

 Debt/Equity = 1 

Balance sheet 

Liabilities  Rs. Assets  Rs. 

Net worth ? Fixed assets ? 

Long term debt ? Inventories  ? 

  Debtors ? 

Current liabilities ? Liquid assets (others) ? 

 RÌPsh Â£μ[PøÍ £¯ß£kzv C¸¨¦ {ø»U SÔ¨¤øÚ u¯õº 

ö\´P.  ÂØ£øÚ AÍÄ ¹.36,00,000. 

 ÂØ£øÚ/ö©õzu ö\õzx = 3 

 ÂØ£øÚ/{ø»a ö\õzx = 5 

 ÂØ£øÚ/|øh•øÓ ö\õzx  = 7.5 

 ÂØ£øÚ/\μUQ¸¨¦ = 20 

 ÂØ£øÚ/PhÚõÎPÒ = 15 

 |øh•øÓ ÂQu® = 2 

 ö©õzu ö\õzx/{Pμ ©v¨¦ = 2.5 

 Phß/£[S •uÀ = 1 

C¸¨¦ {ø»U SÔ¨¦ 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

{Pμ ©v¨¦ ? {ø»a ö\õzxUPÒ ? 

}shPõ» Phß ? \μUQ¸¨¦  ? 

  PhÚõÎPÒ ? 

|øh•øÓ ö£õÖ¨¦PÒ ? }º© ö\õzxUPÒ ? 



 

 62453/CPZ6B/ 
CPG6A/CPM6A/CPW6C/ 
CPC6C/MAT6A/CPW3E 

7

23. Following are the balance sheets of a partnership firm : 

Liabilities 1.1.2017  31.12.2017 Assets 1.1.2017  31.12.2017 

 .  .  .  . 

Creditors 36,000  41,000 Cash 4,000  3,600 

Loan from partner –  20,000 Debtors 35,000  38,400 

Loan from bank 30,000  25,000 Stock 25,000  22,000 

Capital 1,48,000  1,49,000 Land 20,000  30,000 

    Building 50,000  55,000 

    Machinery 80,000  86,000 

 2,14,000  2,35,000  2,14,000  2,35,000 

 During the year the partners withdraw .26,000 for domestic 

expense.  The provision for depreciation against machinery as on 

1.1.2017 was .27,000 and on 31.12.2017 .36,000. Prepare Cash 

flow statement. 

 Jº Tmhõsø© {ÖÁÚzvß C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ 1.1.2017  31.12.2017 ö\õzxUPÒ 1.1.2017  31.12.2017 

 ¹.  ¹.  ¹.  ¹. 

PhÜ¢÷uõº 36,000  41,000 öμõUP® 4,000  3,600 

TmhõÎPÎß Phß –  20,000 PhÚõÎPÒ 35,000  38,400 

Á[QPhß 30,000  25,000 \μUQ¸¨¦ 25,000  22,000 

•uÀ 1,48,000  1,49,000 {»® 20,000  30,000 

    Pmih® 50,000  55,000 

    C¯¢vμ® 80,000  86,000 

 2,14,000  2,35,000  2,14,000  2,35,000 

 Tmhõsø© ö\»ÄPÐUPõP |h¨¦ BsiÀ ¹.26,000–zøu 

TmhõÎPÒ GkzuÚº.  C¯¢vμ® «uõÚ ÷u´©õÚ JxUS 1.1.2017 

AßÖ ¹.27,000 ©ØÖ® 31.12.2017 AßÖ ¹.36,000. öμõUP Jmh 

AÔUøPø¯ u¯õº ö\´P. 
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24. The expenses for the production of 5,000 units in a factory are 
given as follows : 

 Per unit 

 . 

Materials 50 

Labours 20 

Variable overheads                             15 

Fixed overheads ( .50,000) 10 

Administration expenses (5% variables) 10 

Selling expenses (20% fixed) 6 

Distribution expenses (10% fixed) 5 

Total cost per unit 116 

 You are required to prepare a budget for the production of 7,000 
units. 

 J¸ öuõÈØ\õø»°À 5,000 A»SJßÖUS ö\»ÄPÒ uμ¨£mkÒÍÚ. 

 A»S JßÖUS 

 ¹. 

‰»¨ö£õ¸Ò 50 

T¼ 20 

©õÖ£k® ÷©Øö\»ÄPÒ 15 

{ø»¯õÚ ÷©Øö\»ÄPÒ (¹. 50,000) 10 

A¾Á»P ö\»ÄPÒ (5% ©õÓUTi¯x) 10 

ÂØ£øÚ ö\»ÄPÒ (20% {ø»¯õÚx) 6 

£Qº©õÚ ö\»ÄPÒ  (10% {ø»¯õÚx) 5 

A»S JßÔß ö©õzu AhUP® 116 

 7,000 A»SPÒ EØ£zvUPõÚ ÁμÄ ö\»Ä vmh AÔUøP°øÚz 

u¯õº ö\´P. 

 ———————  


